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Note :

This paper is of Seventy (70) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein. Candidates should limit their answer to
the questions on the given answer sheet. No additional
(B) answer sheet will be issued.
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SECTION-A/( @US-ah )

(Long Answer Type Questions)/( €&l 3T a1 W9)

Note :

Section 'A' contains Five (05) long answer type

questions of Nineteen (19) marks each. Learners are

required to answer any Two (02) questions only.
(2x19=38)
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1. Define Cost Accounting. What is the difference between
Cost Accounting and Financial Accounting? Explain the
importance of Cost Accounting.
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2. What do you mean by inventory control? Explain with
examples the main methods of valuation of material issues.
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3. Define Overhead cost and explain 'different methods of
classification of overheads.
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4. A product passes through three processes A, B and C. The
normal wastage of each process is as follows : Process A —
3%, Process B — 5%, and Process C — 8%. The wastage of
Process A is sold at 25 paisa per unit, that of Process B at
50 paisa per unit, and that of Process C at Rs. 1 per unit.
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10,000 units were issued to Process A on Ist April, 2021 at
a cost of Rs. I per unit. The other cost were as follows :

Process A Process B Process C
Units [ Rs. [ Units Rs. | Units Rs.
Materials 1,000 1,500 500
labour 5,000 8,000 6,500
Direct Expenses 1,050 1,188 2,009
Actual output 9,500 9,100 8,100

Prepare process accounts, assuming that there were no
opening and closing stocks. Also give abnormal wastage
and abnormal gains sccounts.
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5. A factory manufactures two types of Television sets-
"Supreme" and "Majestic". From the information prepare a
statement showing cost and profit per Television set sold.
There is no opening and closing stock.

Particulars Supreme Majestic

Rs. Rs.
Materials 81,900 3,26,040
Labour 46,800 2,09,760
Selling price per Television set 3,000 3,000

Works expenses are charged at 80% on labour and office
expenses at 15% on works cost. 78 "Supreme" and 286
"Majestic" television sets were sold. Find out profit as per
financial accounts assuming that actual works expenses
amounted to Rs. 1,92,060 and office expenses totalled
Rs. 1,40,400. Reconcile the profit as shown by cost and
financial accounts.
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2. 2.
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SECTION-B/( @US-T )

(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains Eight (08) short answer type

e -

questions of Eight (08) marks each. Learners are required
to answer any Four (04) questions only.  (4x8=32)
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1. Distinguish between Direct and Indirect labour.
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2.  Whatis a cost sheet? Explain its objectives .

AN Uk R 87 THH SeVdl Sl SATed e

3.  What is Unit or output costing? In what industries it is used?

ShIE STUE] SR o fafy == 87 g fRd s=mi o
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4. Differentiate between normal and abnormal wastage. How
they are treated in process cost records?

=T TS ST 99 § R SR 7 TR ol iR
G ol § 9 R S 27

5. What are the advantages and disadvantages of marginal
costing?

i ara fafa & od den eiEl s 82

6. What is variance analysis? Why it is called a tool of
management?

foraoner faveroor =M 2?2 T YO 1 ITR R FE
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7. What are the causes of difference in the results of cost and
financial accounts?

A S T oel & IRomH § ST % R R0 87

8.  What is operating cost? What are the objectives of operating
costing?
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